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NEW QUESTION 1

A server administrator is exporting Windows system files before patching and saving them to the following location:
\\server\ITDept\

Which of the following is a storage protocol that the administrator is MOST likely using to save this data?

A. eSATA
B. FCoE
C. CIFS
D. SAS

Answer: C

NEW QUESTION 2
Which of the following would MOST likely be part of the user authentication process when implementing SAML across multiple applications?

A. SSO

B. LDAP

C. TACACS
D. MFA

Answer: A

NEW QUESTION 3
A technician needs to deploy an operating system that would optimize server resources. Which of the following server installation methods would BEST meet this
requirement?

A. Full

B. Bare metal
C. Core

D. GUI

Answer: C

NEW QUESTION 4

A server administrator is experiencing difficulty configuring MySQL on a Linux server. The administrator issues the getenforce command and receives the following
output:

># Enforcing

Which of the following commands should the administrator issue to configure MySQL successfully?

A. setenforce 0

B. setenforce permissive
C. setenforce 1

D. setenforce disabled

Answer: A

NEW QUESTION 5
Which of the following backup types only records changes to the data blocks on a virtual machine?

A. Differential
B. Snapshot

C. Incremental
D. Synthetic full

Answer: C

NEW QUESTION 6
A company uses a hot-site, disaster-recovery model. Which of the following types of data replication is required?

A. Asynchronous

B. Incremental

C. Application consistent
D. Constant

Answer: B

NEW QUESTION 7
A technician recently upgraded several pieces of firmware on a server. Ever since the technician rebooted the server, it no longer communicates with the network.
Which of the following should the technician do FIRST to return the server to service as soon as possible?

A. Replace the NIC

B. Make sure the NIC is on the HCL
C. Reseat the NIC

D. Downgrade the NIC firmware
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Answer: D

NEW QUESTION 8

A server administrator has noticed that the storage utilization on a file server is growing faster than planned. The administrator wants to ensure that, in the future,
there is a more direct relationship between the number of users using the server and the amount of space that might be used. Which of the following would BEST
enable this correlation?

A. Partitioning
B. Deduplication
C. Disk quotas
D. Compression

Answer: C

NEW QUESTION 9
A server technician is deploying a server with eight hard drives. The server specifications call for a RAID configuration that can handle up to two drive failures but
also allow for the least amount of drive space lost to RAID overhead. Which of the following RAID levels should the technician configure for this drive array?

A.RAID O
B. RAID 5
C.RAID 6
D. RAID 10

Answer: C

NEW QUESTION 10
Which of the following policies would be BEST to deter a brute-force login attack?

A. Password complexity

B. Password reuse

C. Account age threshold

D. Account lockout threshold

Answer: A

NEW QUESTION 10
A technician needs to install a Type 1 hypervisor on a server. The server has SD card slots, a SAS controller, and a SATA controller, and it is attached to a NAS.
On which of the following drive types should the technician install the hypervisor?

A. SD card

B. NAS drive
C. SATA drive
D. SAS drive

Answer: C

NEW QUESTION 15

A technician is trying to determine the reason why a Linux server is not communicating on a network. The returned network configuration is as follows:
eth0: flags=4163<UP, BROADCAST,RUNNING,MULTICAST> mtu 1500

inet 127.0.0.1 network 255.255.0.0 broadcast 127.0.0.1

Which of the following BEST describes what is happening?

A. The server is configured to use DHCP on a network that has multiple scope options

B. The server is configured to use DHCP, but the DHCP server is sending an incorrect subnet mask
C. The server is configured to use DHCP on a network that does not have a DHCP server

D. The server is configured to use DHCP, but the DHCP server is sending an incorrect MTU setting

Answer: B

NEW QUESTION 19

Ann, an administrator, is configuring a two-node cluster that will be deployed. To check the cluster’s functionality, she shuts down the active node. Cluster
behavior is as expected, and the passive node is now active. Ann powers on the server again and wants to return to the original configuration. Which of the
following cluster features will allow Ann to complete this task?

A. Heartbeat

B. Failback

C. Redundancy
D. Load balancing

Answer: B

NEW QUESTION 21
A large number of connections to port 80 is discovered while reviewing the log files on a server. The server is not functioning as a web server. Which of the
following represent the BEST immediate actions to prevent unauthorized server access? (Choose two.)

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy SK0-005 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/SK0-005/ (112 New Questions)

A. Audit all group privileges and permissions

B. Run a checksum tool against all the files on the server

C. Stop all unneeded services and block the ports on the firewall
D. Initialize a port scan on the server to identify open ports

E. Enable port forwarding on port 80

F. Install a NIDS on the server to prevent network intrusions

Answer: AD

NEW QUESTION 23
Which of the following is the MOST appropriate scripting language to use for a logon script for a Linux box?

A. VBS

B. Shell

C. Java

D. PowerShell
E. Batch

Answer: A

NEW QUESTION 26
Which of the following tools will analyze network logs in real time to report on suspicious log events?

A. Syslog
B. DLP
C. SIEM
D. HIPS

Answer: C

NEW QUESTION 28
Which of the following will correctly map a script to a home directory for a user based on username?

A. \\server\users$\username
B. \\server\%username%

C. \\server\FirstlnitialLastName
D. \\server\$username$

Answer: B
Explanation:
Reference:

https://social.technet.microsoft.com/Forums/windows/en-US/07cfcb73-796d-48aa-96a9-08280alef25a/m
apping-home-directory-with-username-variable?forum=w7itprogeneral

NEW QUESTION 31

A server that recently received hardware upgrades has begun to experience random BSOD conditions. Which of the following are likely causes of the issue?

(Choose two.)

A. Faulty memory

B. Data partition error

C. Incorrectly seated memory
D. Incompatible disk speed
E. Uninitialized disk

F. Overallocated memory

Answer: AC

NEW QUESTION 33

A server administrator has configured a web server. Which of the following does the administrator need to install to make the website trusted?

A. PKI
B. SSL
C. LDAP
D. DNS

Answer: A

NEW QUESTION 34

Which of the following documents would be useful when trying to restore IT infrastructure operations after a non-planned interruption?

A. Service-level agreement
B. Disaster recovery plan

C. Business impact analysis
D. Business continuity plan

Answer:
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C

NEW QUESTION 36
Which of the following is typical of software licensing in the cloud?

A. Per socket

B. Perpetual

C. Subscription-based
D. Site-based

Answer: C

NEW QUESTION 40
A server administrator wants to run a performance monitor for optimal system utilization. Which of the following metrics can the administrator use for monitoring?
(Choose two.)

A. Memory

B. Page file
C. Services
D. Application
E. CPU

F. Heartbeat

Answer: AE

NEW QUESTION 41

A company has implemented a requirement to encrypt all the hard drives on its servers as part of a data loss prevention strategy. Which of the following should the
company also perform as a data loss prevention method?

A. Encrypt all network traffic

B. Implement MFA on all the servers with encrypted data

C. Block the servers from using an encrypted USB

D. Implement port security on the switches

Answer: D

NEW QUESTION 44
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